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 : (1)     . 
  (2)       . 
 
1. (A) (i)     ,   . 7 

  (ii)   6   4   .   7 

   (1) 2    
   (2)      
   (3)  -        ? 

 
  (i) n  . 7 

   (1) nP3 : (n + 1)P3 = 3 : 4 

   (2) 19Cn + 2 = 19C2n – 1 

  (ii)            ? 7 
   (1) RESULT (2) SUCCESS (3) MARRIAGE 
 (B)   . 4 

  (1) 2, 5, 6, 7  9   70,000   5     
 ? 

  (2) 10P2 + 7C3   . 
  (3) 6P6  6C6   . 
  (4) nP2 = 132   n   . 
 
2. (A) (i)   : ,  ,   . 7 

  (ii)        .                 
(i) 9 , (ii)     9     . 7 

 
  (i)   :  , : ,  . 7 

  (ii)  2P(A) = 3P(B) = 5P(A  B) = 
1
2   P(A  B), P(A  B)  P 








B

A

  . 7 
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 (B)    ,  . 4 

  (1)      ? 
   (a) –1  +1 (b) 0  1 (c) n  N 

  (2)  A =    A    ? 
   (a)  (b)   (c)   
  (3)  A  B =     A  B    ? 

   (a)   (b)   (c) :  
  (4)   53     ? 

   (a) 
1

53 (b) 
53

366 (c) 
2
7 

 
3. (A) (i)    . 7 

  (ii)   x     .   K    
   . 7 

x : 0 1 2 3 4 5 
P(x) : 0.05 0.12 K 0.35 2K 0.15 

 
  (i)   5   3   .   2      

 .         . 7 

  (ii)  E(x) = 2.5, E(y) = 8, V(x) = 40, V(y) = 52.5   E(2x + 1),                              

E(2x + 5y – 3)  V(2x + 5y – 3)   . 7 

 (B)   . 3 

  (1)    . 
  (2)  V(x) = 4  E(x) = 1   E(x2) . 
  (3)  E(x) = 2  E(x2) = 40   V(x) . 
 
4. (A) (i)       ,   . 7 

  (ii)  5, 10, 12, 15  18      , 1  2  
 . 7 

 
  (i)         . 7 

  (ii)     5       1, 12, 22 
 58 .            . 7 

 (B)   . 3 

  (1)         ? 

  (2)     2 = 8       ? 
  (3)  1 = 1  2 = 8   2 . 

_________ 
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Instructions : (1) Simple calculator can be used. 
   (2) Figures on right hand side, indicate marks of the question.  
 
1. (A) (i) Explain meaning of permutation and combination and write their formulae. 7 
  (ii) In a box, there are 6 red and 4 white balls. In how many ways  7 
   (1) 2 red balls 
   (2) 2 balls of same colour and  
   (3) 2 balls of different colours can be selected from the box ?   

           OR 
  (i) Find the value of n. 7 
   (1) nP3 : (n + 1)P3 = 3 : 4 

   (2) 19Cn + 2 = 19C2n – 1 

  (ii) How many words can be formed by using all letters of following words ?  7 
   (1) RESULT (2) SUCCESS (3) MARRIAGE 
 
 (B) Give answer in short : 4 
  (1) How many numbers of 5 digits which are more than 70,000 be formed by 

using digits 2, 5, 6, 7 and 9 ?  
  (2) Find the value of 10P2 + 7C3.  
  (3) Find the value of 6P6 and 6C6.  
  (4) If nP2 = 132, find value of n.  

 
2. (A) (i) Write definition of : Probability, Conditional Probability, mutually 

exclusive events.   7 
  (ii) Two dice are thrown together. Find probabilities that sum of two digit on 

both the dice is (i) 9 and (ii) at least 9.  7 
             OR 

  (i) Write definitions : Independent events, exhaustive events, union of two 
events.  7 

  (ii) If 2P(A) = 3P(B) = 5P(A  B) = 
1
2 , find P(A  B), P(A  B) and P 








B

A
. 7 
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 (B) Give answer by selecting an appropriate option :  4 
  (1) What is the range of probability ?   
   (a) –1 to +1 (b) 0 to 1 (c) n to N 
  (2) If A =  , then A is of which type of event ?  
   (a) Union event (b) Difference event (c) Certain event 
  (3) If A  B =  then A and B are which type of events ?  
   (a) Mutually exclusive events 
   (b) Independent events 
   (c) Exhaustive events 
  (4) What is the probability for 53 Sunday in a leap year ?  

   (a) 
1

53 (b) 
53

366 (c) 
2
7 

 
3. (A) (i) Write characteristics of mathematical expectation. 7 
  (ii) The probability distribution of a discrete variable x is as follow. Find the 

value of K and also find mean of the distribution.  7 
x : 0 1 2 3 4 5 

P(x) : 0.05 0.12 K 0.35 2K 0.15 
               OR 

  (i) In a bag, there are 5 red and 3 white balls. 2 balls are randomly selected 
from it. Find expected number of red balls in it and also find it’s variance.  7 

  (ii) If E(x) = 2.5, E(y) = 8, V(x) = 40, V(y) = 52.5 find values of E(2x + 1),                    
E(2x + 5y – 3) and V(2x + 5y – 3). 7 

 
 (B) Give answer in short : 3 
  (1) Write meaning of mathematical expectation.  
  (2) If V(x) = 4 and E(x) = 1, then find E(x2). 
  (3) If E(x) = 2 and E(x2) = 40, then find V(x).  
 
4. (A) (i) Explain meaning of central moment and row moment. 7 
  (ii) Find first four central moments for the observations 5, 10, 12, 15 and 18. 

Also find 1 and 2. 7 

                 OR 
  (i) Explain method of studying skewness and kurtosis by using moments.  7 
  (ii) The first four row moments about 5 are respectively 1, 12, 22 and 58. Find 

first four central moment from this. Also find mean and variance. 7 
 
 (B) Give answer in short :  3 
  (1) What is the value of first central moment ? 
  (2) If second central moment 2 = 8, what is the value of standard deviation ? 

  (3) If 1 = 1 and 2 = 8, find 2. 
_________ 

 


